



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{4} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{6} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(-\frac{1}{4}\right)^2 - \left(-\frac{3}{4}\right) = \frac{13}{16}$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{4} = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^2 - \frac{3}{5} = \left(-\frac{22}{45}\right)$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{2} = \frac{17}{16} = 1\frac{1}{16}$$

$$\left(\frac{1}{4}\right)^2 + \frac{1}{2} = \frac{9}{16}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{3}{4}\right) = 1$$

$$\left(\frac{3}{4}\right)^{(-1)} + \left(-\frac{1}{3}\right) = 1$$

$$\left(\frac{1}{6}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{177}{5} = 35\frac{2}{5}$$

$$\left(\frac{1}{2}\right)^{(-1)} - \frac{1}{5} = \frac{9}{5} = 1\frac{4}{5}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{3}\right) = \frac{5}{3} = 1\frac{2}{3}$$

$$\left(\frac{1}{6}\right)^2 - \frac{2}{5} = \left(-\frac{67}{180}\right)$$

$$\left(\frac{1}{5}\right)^{(-1)} - \frac{1}{6} = \frac{29}{6} = 4\frac{5}{6}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{101}{4} = 25\frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{1}{6} = \frac{47}{18} = 2\frac{11}{18}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{39}{4} = 9\frac{3}{4}$$